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, 4. Two cuts are made on a circular log of radius 5 cm. The first is
~~,' perpendicular to the axis and the second is inclined at 30° to the axis. =
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the volume formed if the two cuts meet at the centre of the log

/2/ The cross sections perpendicular to the X axis of
the horn shaped figure shown are circles with
diameters joining the two curves y = x1/3 and

y = 4/5 x1/3. The solid extends from the origin
to the position where x = 1. Find the volume of
the figure.

y

/3. The area of an ellipse with semi major and semi minor axes a and b is

mab. .

Find the volume of the above figure if the cross sectional shape is an
ellipse where the major axis is twice the length of the minor axis, the
major axis being parallel to the y axis.

4. A solid has its base the area enclosed by the curves y=x and x2 = 4y.
Find the volume formed if the cross sectional area parallel to
»a)the x axis.
/B)the y axis.
is a semi circle.

5. The base of a solid is the area enclosed by the curves y = x2 and x = yZ2.
Find the volume of the solid if the cross sectional area parallel to

&) the X axis is a square

be) the Y axis is an equilateral triangle.
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